
3. Schulstufe – Wiederholung  + und – Z und E o. Überschreitung 

CK 

Rechentraining  
Rechnen bis 100 ohne Zehnerüberschreitung 

 

 

 

39 + 60 = 39 - 7 = 51 - 10=

31 + 6 = 87 - 2 = 26 - 3 =

52 - 2 = 48 - 7 = 82+ 10=

46 + 20 = 75+ 4 = 24+ 50=

49 + 1 = 63 - 40= 22+ 3 =

63 + 30 = 37+ 10= 77 - 1 =

31 + 60 = 77+ 2 = 35 - 20=

88 + 10 = 61 - 40= 57+ 10=

37 - 10 = 57+ 20= 27+ 2 =

52 - 1 = 26 - 6 = 26+ 20=

65 + 5 = 67+ 30= 64 - 2 =

92 + 4 = 69+ 1 = 19+ 20=

81 + 1 = 28+ 60= 25+ 70=

65 - 20 = 27 - 5 = 77 - 5 =


